
 

 

 

 

WINCH MOUNT INSTALLATION INSTRUCTIONS 

                        POLARIS RANGER 

                         

   4.         The mount bracket accepts both size fairleads, you only need to use the set of holes that match up to your 

fairlead.  Use hardware that came with your fairlead to mount up to winch mount. The bolts in illustration are not 

provided with winch mount any longer they now come in you winch box. 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 CST, 7:00 to 4:30, Mon. – Thur.                      INST1618 

 

ITEM QTY. PART# DESCRIPTION

1 1 1618-1 Winch Mount Plate

2 1 1618-2 Left Mount Bracket

3 1 1618-3 Right Mount Bracket

4 10 HDW7058 5/16 Nylock Nut

5 6 HDW2050 5/16 x 3/4 Hex Bolts

6 12 HDW9002 5/16 Flat Washer

7 4 HDW2051 5/16 x 1 Hex Bolt

8 4 HDW1054 8mm x 25mm Hex Bolt



 

 Mount Installation 
Instructions  

Page 2 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fig 2. 

Winch mounted on inside of bumper. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
When mounting on the 2016 ranger 570 
The bracket in Fig 3 will need to be switch 
From side to side for mounting, so the end 
With the gap will face the radiator. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Fig 3. 

 
 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 CST, 78:00 to 4:30, Mon. – Thur. 
                                            . Inst1618 5/23/2018 


